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Aufgabe 1

Vervollständige die Tabelle.

Z E Zahl als Wort

4 0

2 8

1 8

zehn

0 2

9 4

zweiundvierzig

vierundzwanzig

5 2

5 5

Aufgabe 2

Vervollständige die Tabelle.

H Z E Zahl als Wort

3 3 6

0 9 3

6 5 3

fünfunddreiÿig

achthundertsiebzig

9 0 4

neununddreiÿig

3 6 7

einhundertfünfundachtzig

2 8 6
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Aufgabe 3

Vervollständige die Tabelle.

Z E Zahl als Wort

3 1

8 2

9 1

6 9

dreiundsiebzig

6 1

3 3

einundfünfzig

fünfundsechzig

9 6

Aufgabe 4

Vervollständige die Tabelle.

H Z E Zahl als Wort

5 1 1

0 1 9

9 5 7

2 1 2

dreihundertvierundfünfzig

9 0 8

dreihundertzwanzig

dreihundertachtundvierzig

siebenhundertzweiundneunzig

vierundsiebzig

Viel Erfolg!
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